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B FEHERT =X 1 65, 266, 785
HEELT = 1 1, 955, 265
HRHEI T = 1 64, 050 |#HEH| 50 m3
T EFRDIAN OB /N ()
Rkt A = 1 44,920 |VEmEET (8] 150) 50 m2
BRI v+ R OWYE + Rkt
BhEE2 7Y =] =X 1 1,670,400 |ED a/7)-} 400 m2
18-8-25(20) (#i4A) J& 10cm 2v7Y— & R 114
P v T = 1 175, 895 %ﬁ%ﬂﬁ 1 =
B2 A couE
b 1 X
T CESE- EAR Y L& T) B R Eg R
10. OkmLL T
EFEET = 1 11,672, 393
EiAEFTH X T =X 1 976, 364 | &HEERRUINT 1 X
TAT7 W MERZE R EHEEIE 100mm ;
S IR (20 E 1) 100 m2
TAT 7 MEREERR SH3ERRE 10cm ;
e 10 m3
EHEERRIA B R TEREERE 7. SkmPL T
By 10 m3
TAT 7N (HRED)  (BR) B[R
b 1 =X
T CESE- EAR Y L& T) B R Eg
10. OkmLL T
e 1 =
HBtHZ A couE
T AR 100 m2
BAEITyv4T/ RC-40 {1 0 150mm ;
L 100 m2
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RIEFTIHREA M40 {9 & 150mm ;

) 100 m2
FAEMBIEET 22y (20) AR 50mm 1. 4mPh F3.0
mPA T

3] 100 m2
FAFERLET A2y (20) AH%E/E 50mm 1. 4mEL £3.0
nlA T

EiAEFTH X T =X 1 594, 379 | %L BT 1 X

TA7 7V MERZERR SH2EE 40mm ;

SRR AL (N 100 m2
TA77 VMR B2 4em ;

DO 4 m3
EHEERRIEA B R TEREERE 7. OkmPL T

By 4 m3
TAT 7N (HRED) - (BR) B[R

A 10 m3
1A EROEASN OB /NS (REHE)

b E 1 €
T CESE- EAR Y L& T) B R Eg
10. OkmLL T

Fe 1 =X
B2 A couE

T AR 100 m2
BA79v477 RC-30 A Y & 100mn ;

3] 100 m2
FAEBRIEET A2y (13) AHMEE 40mm 1. 4mPl |

BIHIA-N -V T = 1 8,812,650 |BIEIF—n" -1 3, 000 m2

TemPA N —J8 BeEd 0 o AR ET ATy
(20) #EfiZe)E 50mm ;

s (& B A 150 m3
TAT 7N (EDEN) i s R EE 32, OkmPA R

By 150 m3
7A7 7 b (BDED) () BEA
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WG T BV 1 661,500 | PN~ 100 m2
7RH8 RPN-301 ;
7y AT =9 1 384,300 | T Hehtk (A3 ) 50 m2
BAF9v477 RC-30 A Y & 100mn ;
A=k )" 7 ny Ak 50 m2

FEUES EARECE [E6cm W (JyvavF) HMIE 3
Omm 100m2Ai ;

TAT 7 VMRS T = 1 243,200 | 17y)B51ky—} 200 m
B 7AFEM 18 50cm ;

HEKHEEY T = 1 5, 396, 039
e+ T 2 1 718,039 |FRIEY 1 X
+4)
HEL 1 2V
+4)
T wb AT 1 2V
T CESE- EAR Y L& T) B R Eg R
10. OkmLL T
e 1 =
B2 A couE
AR T = 1 4,240,250 | VEZINE 50 m
HEWTH PITE 30em PN 30cm L=2000mm ;
B () IS 50 m
TOEWT A PR 30cm PN 30cm L=2000mm b4
BRfT
H 2B RS 50 m

HEWTH IR 40em PN 50cm 77y M7 18-8-2
5(20) (&¥F) ;

NS 100 e
/)= EEME 3004 T-25 L=500mm ;

NS 50 e
)= H ERABARE fEEr 400/ T-25 L=5
00mm ;
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At vy T = 1 437,750 | BUGFT B KM 5 AT
W<t 500X 500 BlZFT4F 18-8-25(20) (k)
EmEERIERE
= 5 %
Vv SE 500X 500 T-25 S E R VA
i ;
&AL = 1 1, 366, 000
AL =Y 1 1,366, 000 |AHEEERT ny) 100 m
AAEER W A L=2000mm ;
BT T = 1 2,432, 000
EEARI I AT T 2 1 1,149,000 |4 =} v-w 100 m
4L Gr-B-4E 100mLl - R ERE 4 -7
IV
o5 (- A T = 1 1, 283,000 |H=7% (REKT) B (-4 100 m
MHEL Im P ESA ©=a2n 2 47 =177 90y
SN =Y 1 963, 100
FNRURER T Y 1 963, 100 | 1= akAE 5 p-e
A 2 89.1 R & 4.7m 5RELILE
TERRAR 10 be
2. Om2oRN ARk MHATVIA 2mm 477 ¥h7" YA
Then7 T 0. 72X0. 72 ;
X R T = 1 2,201, 400
X H R T = 1 2,201, 400 | VA Rl= X i 2, 000 m
AT E) 4 (A) 15em & 1. 5mm HEACMEEH
AR RRME X )R 1, 000 m
)77 N GEa) FE#RGER) 30cm;
TE AT e it ek T Y 1 1, 257, 600
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B EY T 2 1 1,257,600 |45 IE 30 %N
TR -V LA WS § 07779 30
KL L
By A 30 %N
AIKEE $80 A -2 $250 S 800mm AR,
(FALA-IAH) 30KRLLE ;
WiERE T = 1 633, 064
e+ T 2 1 136,614 |FRYE Y 1 X
+4)
HEL 1 2V
+4)
b 1 =X
T CESE- EAR Y L& T) B R Eg R
10. OkmLL T
e 1 =
B2 A couE
T FTHERE T (&4 BT =X 1 496, 450 | /|NERIBERE 5 m3
PERE A X 1. 0m 18-8-40 (& 4F) ;
AV =p T = 1 1,063, 775
e+ T 2 1 272,575 |FRIEY 1 X
+4)
HEL 1 2V
+4)
b 1 =X
T CESE- EAR Y L& T) B R Eg
10. OkmLL T
e 1 =
B2 A couE
7 VERAMIVDA =h T = 1 791,200 |7° VEYAME 9)A 10 m
PR 0.7m PN 0.7m ;
IR = 1 2,316, 250
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EEWRAT T = 2,316,250 |EVIVIRAT 250 m2
EFtAY N L 8em ;
S SEE = 745, 305
Bk s L =X 745,305 | AR (A ) 250 m
HEFE D& 0. 15m3/mPL 2 .
MEER (NJ1) 250 m
WA tmbE 0. 15m3/mPL T A& )1 ;
Wi 125 &30
ANT1iER B3 25emAT ;
b 1 =X
T CESE- EAR Y L& T) B R Eg
8. 5kmPL T ;
e 1 =
B2 A couE
MRE T = 165, 000
JE KPR T 2 165,000 |8 HERE (HA) 1, 000 m2
FTEEYERREEEE 11, SkmPL T
Rl ELAVER [ 7K Hi X ] 2 =
PREEMIERE: (B)ww' v ;
HEEWHE L 2 22,134, 127
Wrim f&1E T 2 22,070,167 |/£H Lk 1 Sy
IHEIEM) 2 D AEIEIE~RRE 7. Im3 & ) v—2Av bEY
v BRIV - BRBLSELBRA
el xR T = 63,960 |REEER 3 geS
2t (EHIERERY) B354 (50-150mm) ;
s ALER T = 3, 662, 025
IEALBREE T = 3,662,025 | LAR—eAtEEE 50 FER
REREEE 100 HRE ]
EErEEE 150 i3
FA M VR 50 iSa]
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PES L 5L (— IR F AT
BREBE Ty iEES 50 B
T UmBRE) 350kgHEMR 4 V7 BEREZR L (—iES
FETe)
57" Ny iR 50 FREfE
2R (M 3E -7 - V] (REER TS Te)
ey R 50 1
0. 4m3 [ ] (—EERTETe) ;
Ny DR 50 IREfH
ILIFEO. 28m3 [FEVE] (Fepkifin FETe) ;
Jy=v Ay ) 50 HF[H]
4~4. 5t HEES2. 9t (BT A T) |
R ITVEZE B [}y ) 4 - (i 7™ —h ] s 50 B
N Ay MRITL. 0~12. Om 200kg24: (EEikERA T4
Te)
BN [F #h=0 EdR 50 I ]
Ty pEE230mm CREERTEZER B £ 9
Fe)=[0 V) vrsy /] iElR 50 IREfH
PE-300~400mm ;
HEE L = 1 567, 732
B MM = 1 2 1 156, 429 | BHzEAEZE (B =1 v-1) 50 m
5 A CRE DT - 574 B IR fi2s 50 m
B8 A S i 1 X
W= Vb SRVERG M e R 20. Skm
T
s L X 1 15,224 | Bkl > £
B A S i X
TE SRR B E R EEEE 20. SkmEL F
B RS T = 1 30, 780 | SRS EAETZS 30 A
TR -V LA 30ARLLE
REVEITUE LT = 1 66,480 |27 -MEEEUE L 6 m3
HAEEY BblE T
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BB E T = 1 55,530 | HLRR Y BT 2 30 A
AR OARM) 30A4LLE ;
7y )RR T = 1 97,700 |f/h-nyv) 7wy 50 m2
£ ENE (A Y 1 110,903 | xL0kr 46 m
9797 WLy HAAL
IR R 1 t
NJEEW: 60m% 8 2 ~80mLA T ;
Bl A S iE 1 F2V
AR ERREEEE 20, SkmPL T ;
TE LB T =Y 1 34, 686 | HERK 6 m3
vy -k (BERT) Pl R ENRRERE 14, 4kmPL T
RISy 6 m3
av ) -k BEAT)  SURLARIER (BR)
A Y 1 6,735, 710
AEEHE T Y 1 6, 735, 710 | A3 Wik B g 5 1 =
[ERAE Xy = 1 65, 266, 785
IR 2 1 7,816, 277
BISTIGE: = 1 1,277,277
TERE 2 1 142, 000 | FtRRphm e 2 1 =
Hefif & 2 1 78, 137 |FRAIEFIAE L 1 F2V
HEES ;
IR E 1 F2V
HIEHD ;
IR s IR 1 X
e ig sty = 1 362, 140 | BHEMt O ST AE BE D 7= b D IERL 7R 1 =
JH R FL AT - AERE 1 =
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BUGBREIUEL (REH L) 2V 1 695, 000
sty (R L) 2V 1 6, 539, 000
ol T 2V 1 73, 083, 062
e R E20 1 31, 264, 000
T AT 2V 1 104, 347, 062
— e PR E20 1 17,772, 938
N E20 1 122, 120, 000
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